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. ada ag saa e aedll 2aal sl dlelad Gualal sedl. Waell wel sha adaet gt

GRatel odl.
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15 Qe uR A %9 el B it atserd DB e UsR ol
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SECTION-II L

MATHEMATICS

26. Find the length of side of a square, if the length of diagonal is 13cm.
(1) 12 em @) 6.52cm (3) 132cm @ 13 cm.

27. 2.7% of 4560=? [choose two correct options]
() 12312 x 10-2 (2) 123.12
3 12312 ) 12312 x 107}

28. A fruit seller purchased 50 dozen bananas at Rs. 40 per dozen and sold them
all at Rs. 52 per dozen. What was his profit percentage?
(1) 26% (2) 30% (3) 32% 4 28%

29. A rope of length 420m is cut down at 6 places at same distance. Then what
is the length of each piece in cm?
(1) 7000 2y 70 (3) 700 - (4) 6000

30. Which of the following statement is not true? [choose two correct option]
(1) The diagonals of a rhombus bisect each other.
(2) The diagonals of a rhombus are perpendicular to each other.
(3) All angles of rhombus are congruent.
(4) The diagonals of a rhombus are congruent.

IGH W
0411/ Gujarati Set-A 8 of 32 P.T.O.

| SECTION-1I |
MATHEMATICS
2605 el @sel 13 1l ot d dl All ouyell dons Jacll 52
(1 123 (2) 652 2l
(3) 13V2 a4 @) 132

27.4560 ol 2,7% = Jeadl ? (O A WAL wRie 5)
(1) 12312 x10-2 (2) 123.12

(3) 12312 4) 12312x10°3

28. 25 50 Q3L 40 3. Sobelall €3 50 Sel Jou WAaL & ol Bou AYL 52 3. Sodelell £

A2l dl A A5 el Becd u?

(1) 26% (2) 30% (3) 32%

(4) 28%

29.420 HleR cioll A A4 6 dsiSlell M vidd sl A €35 gsSiel dous Tecu Al ad?

(1) 7000 (2) 70 (3) 700
300 A 1A Qe s1?
(A 2w vl wrie 53)
(1) 2AHeLy Agsastal Asel uruR goudl .
(2) AHeLY AgsalRll QAsel uruR dot A D,
(3) RAHCLY AGBALLL GLUL WEBL 53U AU D,
(4) AHouy AgragL Qsel As3u A B,

(4) 6000
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31. A side of cube is 12em. Such three solid cubes are melted to form a cuboid.

: : 3135 detell o4y 12 2 B, Byey tuga 4 ot QR 52l
& Bis Fthe cuboid § . . 2 A 8ttt Wourld As dotetd AR sl &
_.Mh”weamﬁﬁ. n:“”n“ M: oﬁroévﬂdm “m Jr— sq.cm then what is the height of that dottddl W A0 144 Aozt 1l D A Al Qs o2
< . CQA00sS W EY C!
correct option (A e wala uaie 53)
(1) 36cm 2) 0.36m iy
. N (2) (1) 3621 (2) 036
(3 I2em (+) 0.12m {
m (3) 120 @) 0120
32. Which of the following statement is correct?
g 32. A A4l 20y Quid 532
{1) The rational number mcm is on the left side of zero, on the number line. 43 . i N
. (1) 75 i VAU 2Av2n, 2ivau Yl w2 el sioll ouyR .
{2) The rational number M“'M is on the left side of zero ,on the number line, | ) m Y ANy v, vy v w el stell o:%ﬂ# ®.
27 : : .
3) = 3 N
(3} The rational number m..|m is on the right side of zero on the number line. @) 29 A 2ivay, v e v el sl o:.wéy ®.
= = 3 . .
) ) % v 5 A AvAd, A 3ot w2 yeadl As ¥ oy B,
{4) The number ..Iumr and w":.n on the same side of zero. on the number line.
4 335 2uoua et 8 1 ©1sA2AA 2ivau, BlsAadel 2vautell opigu s 10 L D, A
i set 71 Qeaellzd Aa A BlsavdA 2ivay dodl o912
33. The number of boys in 8th standard in the school are less by 10 than twice |
the number of girls. If the total number of students in the class is 71, then find w 1 44 ) 61
the number of boys? ,_ -
) k (3) 34 4) &4
(h 34 (2) 61 i
3) 54 (4 64

34247 — 3¢ + 1 HgUAML 58 olgudl GARll Yot 32 + 5x + 17 L Gigudl

: HOeL?
34. Which polynomial should be added in 2x° — 3x + 1 to get the polynomial | ad
i + S5y + 17

() 2% + & (2) -2 - 8x — 322

(1) 25 + 8 (2) -2x° — 8x — 32 (3) 2 - 3« (4) -2 + 8x + 32
(3) 20 - &x (4) -2 + 8x + 327

m WORK SPACE FOR ROUGH WORK

|

|

_

i

.
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35.

12 children then 8 chocolates remain and if equally distributed to 14 children
then 10 chocolates remain. Then how many chocolates are there in the bag?

(1) 30 2) 28
(3) 80 (4) 84 .

Few chocolates are there in a bag. If these chocolates are distributed equally to ‘

36. If the length of one diagonal of rhombus having side 25 cm, is 14 cm then
what will be the length of other diagonal?
(1) 48 cm . (2) 14 cm |
]
(3) 25 cm (4) 31 cm “
37. Balbir Singh purchased a machine 2 years ago for Rs.62500. If the value of
machine decreases by 8% per year, then what will be the value of the machine
today?
(1) Rs. 53,900 (2) Rs. 52,900
(3) Rs. 52,800 (4) Rs. 52,700
38. The measure of an inscribed angle of circle is 65°, then what will be the
measure of central formed by intercepted arc of that inscribed angle?
(1) 65° (2) 120° q
1° !
(3) 130° 4) umm
39. One shopkeeper gives 8% discount on printed price of camera, if he sold the
camera for Rs. 4600 then what is the printed price of camera?
(1) Rs. 5000 (2) Rs. 4592
(3) Rs. 4608 (4) Rs. 4000
SPACE FOR ROUGH WORK
12 of 32 P.T.O.
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um.ap.m Al Secll AN B. A 12 cundlHi 2wl eud aBeau udl § Afled Bieds 24,
W N 14 o 2w oud) abdR A 10 Nolled Beas b O A AcdHi 2devd
36l Secdl sl 897

(1) 30 (2) 28
(3) 80

36.25 Al ouydl doudf Qo Al ey Agsagtal w3 Aseldl deud 14 Al Qa d
ollvt @seldl cous aded.

(4) 84

(@) 14 A
4) 31 |l

(1) 48 A
(3) 25 Al

37.0100RR0A s At 2 a ubai 62,5003, Wi Qg dly, Al Bud e2 al 8% et &3
2o O, dl U & Astell Bud Yedl o412

(1) 3. 53,900 (2) 3. 32,900

(3) 3. 52,800 (4) 3. 52,700

38.adtl As 2idold Aetef uu 65° D dl ASL BidRA st wuel 3EA A W bed?

(1) 65° (2) 120°

G) 130° ) mu%

39.205 gstaelR BARAA Olell Bid u2 8% e 2ul B, A s 3AA 3. 4.600 Hi A= d
A 33 orlel Bud decd &2

(1) 50003. (2) 45923
(3) 46083. (4) 4000 3.
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What 1% the cost of fencing the circular garden of radius 21 m with three rounds

..:-.
of wire, if the wire cost Rs. 60 per m?
(1) Rs. 2,3760 (2) Rs. 23,740
(3) Rs. 22,760 (4) Rs. 22,740
41. "The ratio of measure of complementary angle of one angle with its measure of
. supplementary angle is 2 : 5, then what will be the ratio of that angle with its
supplementary angle?
(h 1:10 2) 1:5
3 3:10 @ 1:15
42. 1f each side of the equilateral triangle is 22cm, then what is the area of that
triangle?
(1) 66 sq. cm (2) 121 sq. em
(3) 12043 sq. cm (4) 121./3sq. cm
43. Arpita scored 20% marks less than Ajay, then how many % marks Ajay scored
more than Arpita?
(1 25% (2) 20%
(3) 5% 4) 10%
44. 105 x10.5+15x 10.5 +7.5 % .u.mn ?
10.5+7.5
(nH 18 2 17
3) 3 4 15
SPACE FOR ROUGH WORK
14 0f 32 P.T.0.
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4028 adoustz owdtdll Qo 21 Mlea H. & ouatell §2A siedl diRell s sl HIS dRelt 3
YRt secllell B, dizel £2 UQ 22 3. 60 W A dl get e el uA?

(1) 23,760

(3) 22,760

(2) 23,

4 22,

740

740

41905 uiet AALLA A dett Y5t i A el 2 05 B dl A vjetell det
Y5960 el Apla? decl o812

(1 [:10

(3) 3:10

(2) 1:

@) 1:

5

15

42, A5 ey AeLdl ouy 22 Al Al dl Ao AlApn Beq?
(2) 121 Al
(4) 1213 =2,

(1) 66 .24,

(3) 120¥3 L.

43,2601 A2l s2di 20% 29t wlau HoaAl d Aerad ld s Bect est 8L au

HouaL?
1) 25% @) 0%
) 5% @) 10%
4q, 105%105+15x105+7.5% 75y,
105+7.5

ay 18 @ 17
o @) 15

SPACE FOR ROUGH WORK
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45. The difference of the sum of prime numbers and sum of composite numbers
in between 11 to 20 is completely divisible by which of the following numbers?

(A) 2 (B)5 ©) 7 (D) 13
(1) A and B (2) B and C
(3) C and D 4) A and D

46.

In fig. line AB || line CD and line PR is their transversal. If we draw angle

bisector of both pairs of alternative angle then [J PQRS is formed, Name the

type of OO PQRS.

<& 1\ B

%)
Oy

(1) Right angle quadrilateral
(2) Kite
(3) Square

(4) Trapezium

47. The diameter of wheel of minibus is 0.7m, the find the distance covered by the

wheel in 5000 rotation.

(1) 14 km (2) 12 km
(3) 10 km @ 11 km
SPACE FOR ROUGH WORK
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45.11 &l 20 ol %A (429) Buadl HOL 02Ul 2RA) B AYsd AvAAAL HRAUNL
a2l 5250 Aol WA s8—-58 2ivay o} Guoly oULoL 812

h 2 2)5 3) 7 H13
(1) 20 ¥ ‘o @} @) ‘o A *5°ad
() 5 AA'sAY (@) ‘o ¥ ‘s Ay

46. 2U5W..... cuyell BUSQN vt AB .... YuiL CD 4l Yt PR DR 5L D, cycsit slgddll

oldlell N2l weUall ouvs Arctell AgpAel PQRS 6id &, l ... PORS 52 U2l
2Adeslel B2

<t

O-
N
oy

(1) dola

(2) udat

(3) Arw

(4) Aol Agrslel

47245 el ortett Asiel it 07 4L d, dl A 3 5000 Bliendl ogf »ide s ?

(1) 14 B () 12 (&1
(3) 1000 ) 1150
SPACE FOR ROUGH WORK
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48. The measure of an angle is 140°, then which of the following statement is not
true?

(1) Can draw its complementary angle.
(2) Can draw its supplementary angle.
(3) Can draw its opposite angle.

(4) Can draw its linear pair angle.

" . . =5
49. The co-ordinate of point P is 5 on the number line. The distance between
point P and Q is 4 then which is the co-ordinate of point Q? [choose two correct
options]
5 4
¢)) Lm 2 um
- 5 1
G 45 @ -3

50. By melting of a solid cuboid of length 16cm, breadth 11cm, height 10cm, how
many solid coins of 0.2cm thick and 2cm diameter can be formed?

(1) 2200
(3) 2600

(2) 2400
(4) 2800

51. The curved surface area of cone is 188.4 sq. cm. The radius of its base is 6
cm, then what is the perpendicular height of the cone? (m = 3.14)

(1) 6 cm (2) 8 cm
(3) 10 cm 4) 314 cm
SPACE FOR ROUGH WORK
0411/ Gujarati Set-A 18 of 32 P.T.O.

48. 5 vRUq MM 1400 dl A vigw 1 A 4 53 Quiet AR B?
(1) Ael sLélstet A3 asial.
(2) ol uRsslgL A astdl.
(3) Qe AAsleL el asial,
(@) Qe pevislel a3l asiel.

49, AvAL vl W2 P Bigal AEels % ®. Blg P ol Q d2dq vld2 4 AsH ® d Q.

A¥als Secl? (o 2ual vl uRie s3L)

5 4
a1y -3 @ 35

50. 16 A1l cioud, 11 0 uA s @A 10 200 Qe walad wddl A6 dss? dotdd
Wouelld detiell Busst oteitett Wt 0.2 L st 2 2 Aell eawt wRadl becl szl

AR u?
(1) 2200 (2) 2400
(3) 2600 (4) 2800

51905 sisq dsudesn 188.4 AR D. delt wAl A0 6 Al A d elgell de-Qag
Yedl 8?2  (n = 3.19)

(1) 6 A
(3) 10 A

2) 8 Al
@) 31.4 Wl

SPACE FOR ROUGH WORK
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52. -512¢"7 + 64x* = 7 [choose two correct options]
(1) 2% (2) -BaO
3) 2% (4) 8xY
53. The average age of boys in the class is 15.5 years, while girls average age is

16.5 years. The average age of total students of the class is 16 years. If there
are 30 boys in class then find the number of girls in class,

52. -512¢'7 + 64¢% = (90 2ua wala waie 531)

(1) 2% (2) —8x?

(3) =23 (1) 81°

53,25 aslotl Blsamddl mawdl Bug 155 @f 1 Blsdsld wuadl Bus 165 @ .
dl

1
PR mﬁ 30 Bl D, ud Awelloid waedl Guz 16 @l ® 4 4 el Gisdieidd

siva 52l edL?
(1) 15 (2) 16

5
(1 1 2) 16 —_ -
(3) 30 0 . )
2 e 54.3 * D620 AvAA 3 a¥ GUAM oust s B, #d = ol ol vis, B Al voua His
st 1 el A B, d + ol o) g2l wis wyad?
54. The number 3 * [3] 6 is completely divisible by 3 and the digit at place of

* is greater than 1 by the digit at place of [], then find the digit at place of 1
" (2) 2
(1 1 2) 2 3) 6
3) o6 4 9 4) 9

U Becdl?
§5. What is the sum of additive inverse of (7a + 2b + ¢) and additive inverse of 55.(7a + 2b + ¢) ol ARAU0L cad 2 (52 + 2D - 50)7 el AU A a0l Becd

(5a + 2b - 5¢)? (1) —4Ga + b - ¢)

(1) <4@u + b - ¢)

| () <4Ga-b-o)
_
(2) 43a -b-r¢) (3) 4B3a-b-20)

(3) 4@Ba-b -0 | (4) 4B3a + b - ¢)

(4) 4(3a + b - ¢) §

T 2 P.T.O.
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V196 + 289 - V225 _,

56, 0.00000256
(I 103 (2) 10-2
(3) 10! 4) 102

S7. Karan has same number of notes of Rs. 20 and Rs, 50. He has Rs. 4900 in
total, then find the total number of notes he has?

1 70 (2) 35
(3) 105 4) 140

58. The area of a square is 5.29 $q. cm, then what is its perimeter?
(1) 82 cm
3) 23 cm

(2) 9.2 sq.cm
4) 92 cm

59. A cylindrical tank of base radius 21cm contains water. In that water, a metal
block of length 22cm, breadth 18 cm, height 7em is dropped then what is
increase in the level of water in tank?

(1) 2 cm

(3) 3.

(2) 3 cm

cm (4) 2.5 cm

W

60. In a circle with centre 0, chord of a circle is 30cm long, its distance from the
center is 8cm. Find the radius of the circle?
(1) 17 cm (2) 15 cm

(3) 16 cm 4) 12 cm

0411/ Gujarati Set-A 220f32 P.T.O.

56. V1.96 +/2.89 — /235 N
~/0.00000256 -

9
(1) 10 ) 10?
(3) 10! (4) 102

57. 5281 WA 20 3ol Vel wctsl A & decll « 50 3.4 uet . Al WA 5 3. 4,900
® ol Aol WA et Yoell Actel Ao B2

(1) 70 (2) 35

(3) 105 (4) 140
58015 ARRAe] AA5N 5.29 AAM O d Al URRAA Yecll?

(1) 8234 2) 922

(3) 23 (4) 9.2

5995 AUSR S8lel wandl A 21 A B, Aui well B, & welui 22 A0 aiod, 18 il
Ud A 7 Al A2l wgd dotad diviael 24 welel Glaud Yecl aud?

(2) 320
@) 2.530

(1) 22
(3) 3.5

60. ‘0" Yoz awu adadl 30 1 deuSdl va adad eaell 8 Wl 2idk & A adadd
B 3ecl dousdl 62

(2) 1520l
4 12200

(1) 17200
(3) 16l
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61. A hall has length 28 meter and breadth 10.5 meter For flooring this hall, square 5s dlsells 0 dews A vdas P sl
tiles are to be used of half meter side then how many tiles are required? 61,815 QORISR ctjedl doud 28 12 wta welaus 105 Hlez B. aewjel >
o8 are R S O il Hlez ouyeudl @22usiz seello dleusatdl ® A »uell Secl gl NEA?
1) 1180 5
( @ 1158 (1) 1180
(3 1176 4) 1126
! (2) 1150
62. Add the polynomials Sx* —~ 2x and 243 — 7. What is the degree of the sum of _ (3) 1176
these polynomials? _
4) 1126
(n 7 (2) 4
62.5x = 2¢ ¢ 2 — 7 v ol olgudlet Al dld Bedl?
3 12 @ 5
(7 (2) 4
81° x 27° (3 12 @ 5
63, =~ =x"then x = ?
9" x3 2 2
63.80 x21" Q x =9
9* x3*
) 4 @ 3
(1) 4 (2)3
3 2 @1
(3) 2 @1
64. If the measures of two external angles of a triangle are 60° and 130° respectively, 64. D5 BABLAL 0L GIEdAGLL MU BN 60° VA 130° B dl & BElgL 52 SR &8?
then which type of triangle is it?
(1) agsisl Asel
(1) Acute angled triangle
(2) 21388l A8t
(2) Obtuse angled triangle
) . (3) stesiel @ast
(3) Right angled triangle ,
, Moy BsigL
(4) Equilateral triangle | (@) ey ¥
|
) 'ORK u SPACE FOR ROUGH WORK
_
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i
|
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+ Rohit made a profit of 6 percent when he sold a car which he co:m,u ke 65ABA 5 vt 3RAHE A 512, A5Y 6 ol £ A @S A2 Al Al Seat 3RAL
500,000 How much total money did Rohit get after selling the car? HA?
(1) Rs. 5,20,000 (1) 5,20,0003.

Al.v Rs. M-—O.Qco HIV m_.— B
2 O QOO u.
A..: Rs. Q.OO.QOO

(9 Rs. 530,000 g SRR
(4) 5,30,0003.
66. The length of perpendicular sides of a right angle triangle are 7cm and 24cm
respectively, then find the radius of it's circum circle. 66.215 ste8leL BAeH seviel il ouy@d 7 20 24 24 Wl ®. Al 4 Bde
wRadaell A sedl a9 ?
(1) 12.5 cm (2) 25 cm
(3) 12 cm 4y €% em () 1252 (2) 252l
(3) 12 2l @) 6.5
67. There is decrease in sale of object by 10% due to increase in the cost of object . S
by 10%, then what is the profit percent or loss percent in this transaction? 67.cledll DML 10% A elcuel daugrl 10% gald el Al i cadsRMl RS 48 S
w8 gl Yo est?
(1) 1% loss (2) 2% profit

(3) 3% loss 4) 1.75% profit (1) 1% ve LR

(3) 3% vle 4) 1.75% <8l
68. Yogesh deposited Rs. 32000 in a bank for two years on simple interest, After

maturity he gets Rs. 38400, then what is the rate of interest? 68. 2019\ A5 olsui 32,000 3. 2l HE MlEL cAY Ygall. Hed Ysl 220 Ul dad 38400
302 W MoAL dl cauvel €2 B2 odl?
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(1) 12 pcpa i 2
(2) 15 pcpa ‘ 1) edeR 12 @) eae 15
(3) 18 pcpa * (3) teN 18 . () e 10
4 10 p.c ,“
__
SPACE FOR ROUGH WORK “ JIGH W
_
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72. Which term should be added to Ecaf.mﬂ

complete square? [choose two correct option]

from the following to make it

(1) +5xy 2) -5xy

25x 25
&) T @ -

73. If 18 labours take 15 days to complete one task, then how many days will
6 labours need to complete the same task?
(1) 3 days (2) 90 days

(3) 5 days (4) 45 days

74. From the following, select the factors of polynomial (2x - 3%+ 125,
() 2 (x + 1) (@2 - 22x + 49)
(2) (x + 1) (87 - 22x + 49)
3) 2 (x - 1) (4x% = 22x + 49)

4) (x = 1) (4% = 22x + 49)

75. 0.036 % 235 - M —9
0.6 0.05 6
(1) 0.547 2) 3
(3) 0.47 @ 547
SPACE FOR ROUCGH WORK
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e

1

.wa. ,; .. .v‘ . 14 ‘ . ﬁ.\«.\~..:
7210074 - oy i il af stenaar w2 A Ao A 54 ue Blag UsA? (ot 2uw

wala urie 53

(1) +5wy (2) =5xv

25¢
43 3 -

(3)

ir
&-1\;

73.18 ,.,.Z.L B8 gl 577 WD 15 Bawm A © Al A o s 6 uydl beea Bazed yst
5yel?
(1) 3 kaw (2) 90 (Las
(3) 5kaw (3) 45 [Lax
74, (v = 3 + 125, 00 sgudles maad dider VA s dsa valu us 54
(1) 2 (x + 1) (4 = 22¢ + 49)
(2) (v + 1) (45 = 220 + 49

(3) 2 (v = 1) (4° = 22¢ + 495

) (x = 1) (40 = 220 + 49

75, 0036 . 235 % 1 _adeens
0.0 005 o
(1) 0347 {2) s
(3) 047 (4) 547
SPACE FOR ROUGH WORK
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